5°2n

TB SERIES TERMINAL BLOCK

TB %5 EEX TS

b

=B
A

I

o2

1 -
HE—@]

gol

1| —r1 —
fpr——— L
Features: Fixed Barrier

Item No. / EEfmZU5E TB-1503 TB-1504 TB-1506 TB-1512
Specifications / ki
Total Length / #EEE(L ) [mm)] 46.5 mm 55.5 mm 73.5 mm 128.5 mm
Ref. Length / N (L1) [mm] 36.5 mm 45.5 mm 63.5 mm 118 mm
Gap (A) [mm] 7 mm 7 mm 7 mm 7 mm
Pitch / &ifE (B ) [mm] 9 mm 9 mm 9 mm 9 mm
Screws / 1% (C) M3 M3 M3 M3
Width / & (W) [mm] 22 mm 22 mm 22 mm 22 mm
Height / & (H) [mm] 17.5 mm 17.5 mm 17.5 mm 17.5 mm
Electrical Specifications / EE5&IRF%
Rated Voltage / ZEERE [V ] 600 V 600 V 600 V 600 V
Rated Current / ZEE R [A] I5A I5A I5A I5A
Temperature / TZWEE [ C ] 110 C 110 C 110 C 110 C
Poles / 14 (P) 3 4 6 12

Materials / 4}

Base Materials / F&EAA}

PC/ TR

PC/ TR

PC/ THEHME

PC/ THE¥E

Color / Bt Black / Black / Black / Black /
Flame Retarded Grade/ [k 8% UL 94V-2 UL 94V-2 UL 94V-2 UL 94V-2

Conductor / #f Fr#74}

Brass / ZEH

Brass / 8

Brass / 8

Brass / EE#i

Accessories & Parts / ZZEHif4:

Paper Strip / #Kf& [ mm ] N/A N/A N/A N/A
End Plate / iy N/A N/A N/A N/A
Transparent Cover / SZEIHF [ mm ] N/A N/A N/A N/A
Steel Rod / #f6¢ [ mm ] N/A N/A N/A N/A
Protective Cover / i PS PS PS PS

DIN Mount Rail / #/i3& [ mm ] N/A N/A N/A N/A
End Clamp / Z&HH N/A N/A N/A N/A

\ 4



5°2n

TB SERIES TERMINAL BLOCK

TB %5 EEX TS

B —
- |

o2

1 -
H{:—@]

gol

b [ —— 1 ——
p— 1L
Features: Fixed Barrier

Item No. / EEfmZEU5E TB-2503 TB-2504 TB-2506 TB-2512
Specifications / ki
Total Length / #EEE(L ) [mm)] 50.5 mm 61.5 mm 82.5 mm 147 mm
Ref. Length / N (L1) [mm] 40 mm 51 mm 72 mm 136 mm
Gap (A) [mm] 8 mm 8 mm 8 mm 8 mm
Pitch / &i#E (B) [mm] 10.5 mm 10.5 mm 10.5 mm 10.5 mm
Screws / ###4% (C) M4 M4 M4 M4
Width / TIEE (W) [mm] 28 mm 28 mm 28 mm 28 mm
Height / /=& (H) [mm] 19 mm 19 mm 19 mm 19 mm
Electrical Specifications / EE5&IRF%
Rated Voltage / ZEFERE [V ] 600 V 600 V 600 V 600 V
Rated Current / ZEE R [A] 25A 25A 25A 25A
Temperature / TZWEE [ C ] 110 C 110 C 110 C 110 C
Poles / 14 (P) 3 4 6 12

Materials / #4%}

Base Materials / F&EAA}

PC/ TR

PC/ THEHE

PC/ THEHE

PC/ TR

Color / Bt Black / Black / Black / Black /
Flame Retarded Grade/ [k 8% UL 94V-2 UL 94V-2 UL 94V-2 UL 94V-2

Conductor / #f Fr#74}

Brass / ZEH

Brass / 8

Brass / 8

Brass / EE#i

Accessories & Parts / ZZEHif4:

Paper Strip / #Kf& [ mm ] N/A N/A N/A N/A
End Plate / iy N/A N/A N/A N/A
Transparent Cover / SZEIHF [ mm ] N/A N/A N/A N/A
Steel Rod / #f6¢ [ mm ] N/A N/A N/A N/A
Protective Cover / i PS PS PS PS

DIN Mount Rail / #/i3& [ mm ] N/A N/A N/A N/A
End Clamp / Z&HH N/A N/A N/A N/A




5°2n

TB SERIES TERMINAL BLOCK

TB %5 EEX TS

k

=B
- |

I

o2

1 -
H{:—@]

el

_1
1

b [ —— 1 ——
p— 1L
Features: Fixed Barrier

Item No. / ZEdh U5 TB-2503L  TB-2504L TB-2506L  TB-2512L
Specifications / ki
Total Length / ##5 (L ) [mm] 56 mm 68 mm 92 mm 164 mm
Ref. Length / N (L1) [mm] 45 mm 57 mm 81 mm 153 mm
Gap (A) [mm] 10 mm 10 mm 10 mm 10 mm
Pitch / &i#E (B) [mm] 12 mm 12 mm 12 mm 12 mm
Screws / ###4% (C) M4 M4 M4 M4
Width / TIEE (W) [mm] 30 mm 30 mm 30 mm 30 mm
Height / &% (H) [mm] 19.5 mm 19.5 mm 19.5 mm 19.5 mm
Electrical Specifications / EE5&IRF%
Rated Voltage / ZEFERE [V ] 600 V 600 V 600 V 600 V
Rated Current / ZEE R [A] 25A 25A 25A 25A
Temperature / TFZWEE [ C ] 110 C 110 C 110 C 110 C
Poles / 14 (P) 3 4 6 12

Materials / #4%}

Base Materials / F&EAA}

PC/ TR

PC/ TR

PC/ THEHME

PC/ TR

Color / Bt Black / Black / Black / Black /
Flame Retarded Grade/ [k 8% UL 94V-2 UL 94V-2 UL 94V-2 UL 94V-2

Conductor / #f Fr#74}

Brass / ZEH

Brass / 8

Brass / 8

Brass / EE#i

Accessories & Parts / ZZEHif4:

Paper Strip / #Kf& [ mm ] N/A N/A N/A N/A
End Plate / iy N/A N/A N/A N/A
Transparent Cover / SZEIHF [ mm ] N/A N/A N/A N/A
Steel Rod / #f6¢ [ mm ] N/A N/A N/A N/A
Protective Cover / i PS PS PS PS

DIN Mount Rail / #/i3& [ mm ] N/A N/A N/A N/A
End Clamp / Z&HH N/A N/A N/A N/A

L4



5°2n

TB SERIES TERMINAL BLOCK

TB %5 EEX TS

b

=B
A

I

o2

1 -
HE—@]

=

gol

1| —r1 —
p— 1L
Features: Fixed Barrier

Item No. / ZEdh U5 TB-3503 TB-3504 TB-3506 TB-3512
Specifications / ki
Total Length / ##5 (L ) [mm] 56 mm 68 mm 92 mm 164 mm
Ref. Length / N (L1) [mm] 45 mm 57 mm 81 mm 153 mm
Gap (A) [mm] 10 mm 10 mm 10 mm 10 mm
Pitch / &iE (B) [mm] 12 mm 12 mm 12 mm 12 mm
Screws / ###4% (C) M4 M4 M4 M4
Width / TIEE (W) [mm] 30 mm 30 mm 30 mm 30 mm
Height / &% (H) [mm] 19.5 mm 19.5 mm 19.5 mm 19.5 mm
Electrical Specifications / EE5&IRF%
Rated Voltage / ZEFERE [V ] 600 V 600 V 600 V 600 V
Rated Current / ZEE R [A] 35A 35A 35A 35A
Temperature / TZWEE [ C ] 110 C 110 C 110 C 110 C
Poles / 14 (P) 3 4 6 12

Materials / 4}

Base Materials / F&EAA}

PC/ TR

PC/ TR

PC/ THEHME

PC/ TR

Color / Bt Black / Black / Black / Black /
Flame Retarded Grade/ [k 8% UL 94V-2 UL 94V-2 UL 94V-2 UL 94V-2

Conductor / #f Fr#74}

Brass / ZEH

Brass / 8

Brass / 8

Brass / EE#i

Accessories & Parts / ZZEHif4:

Paper Strip / #Kf& [ mm ] N/A N/A N/A N/A
End Plate / iy N/A N/A N/A N/A
Transparent Cover / SZEIHF [ mm ] N/A N/A N/A N/A
Steel Rod / #f6¢ [ mm ] N/A N/A N/A N/A
Protective Cover / i PS PS PS PS

DIN Mount Rail / #/i3& [ mm ] N/A N/A N/A N/A
End Clamp / Z&HH N/A N/A N/A N/A




